Regular Physics Addition-Component using Calculator Worksheet  A        Name _________________________________

1.
Calculate the resultant velocity of an airplane that normally flies at 240 km/hr if it encounters a 70 km/hr tailwind.


____________________

2. Find the resultant of the pair of velocities 83 km/hr North and 55 km/hr East.


____________________

3.
Find the resultant of a displacement of 127 km, South 62o West and a displacement of 187 km, North 43o West.


____________________

4.
Find the resultant of a displacement of 225 km, East 46o South, a displacement of 362 km, North 45o East, and a displacement of 143 km, South 51o West.


____________________

5. 
Find the horizontal and vertical component of a vector with magnitude of 627 km at an angle of N 23o W.


____________________ horizontal component


____________________ vertical component

6.
Put your calculators away. Then make a scale drawing (in the space below) to find the resultant of a displacement of 82 km, North 54o West and a displacement of 66 km, East 31o North. Place your answer in the blank. Be sure to do all things that are necessary of making such a drawing. Then check with calculator.

_____________________________________
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